Solution Assignment # 3:
CS 508

Due Date:
Your assignment must be uploaded/submitted before or on 29 Dec 2011.
Assignment Q:
Q# 1: Write prolog program that take two integers input us integer and print the greater.
Domains

I = integer

Predicates

Greater (i, i)

Clauses

Greater(X, Y):- X>Y, write (“the greater is”, X).

Greater(X, Y):- write (“the greater is “, Y).

Goal

Greater (4, 3)

Output:

The greater is 4
Q# 2: Semantic net consists of a set of nodes and arcs; each node is represented as a rectangle to describe the objects, the concepts and the events. The arcs are used to connect the nodes and they divided to three parts:-
Is a: 
For objects & types

Is: 
To define the object or describe it

Has a: 


By considering the above given information draw a semantic net of: Layla gave Selma a book:
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